JOURNAL OF MATHEMATICAL ANALYSIS AND APPLICATIONS 127, 140-150 (1987)

Oscillation of Even Order Delay Differential Equations*

B. G. ZHANG

Shandong College of Oceanography, Shandong, China; and The University of Texas, Arlington, Texas 76019

AND

G. S. LADDE

Department of Mathematics, The University of Texas, Arlington, Texas 76019

Submitted by V. Lakshmikantham

Received February 27, 1986

Some oscillation criteria for even order functional differential equations $x^{(n)}(t) + q(t) f(x(t), x(g_1(t)),..., x(g_m(t))) = 0$ and $x^{(n)}(t) + p(t) x^{(n-1)}(t) + q(t) f(x(g_1(t)),..., x(g_m(t))) = 0$ are given. These criteria are an extension of some recent results established by S. R. Grace and B. S. Lalli. C 1987 Academic Press, Inc.

Recently, Grace and Lalli [1] considered

$$x^{(n)}(t) + q(t)f(x(t), x(g(t))) = 0,$$
(1)

where n is an even positive integer. They established an oscillation criterion for (1). In this note we extend Grace and Lalli's work to the *n*th-order equations

$$x^{(n)}(t) + q(t)f(x(t), x(g_1(t)), ..., x(g_m(t))) = 0$$
(2a)

and obtain results that are an improvement over their work. By applying the same method to

$$x^{(n)}(t) + p(t) x^{(n-1)}(t) + q(t) f(x(g_1(t)), \dots, x(g_n(t))) = 0,$$
 (2b)

we obtain a result that is better than results in presented recently in [6].

* This research was supported in part by the U. S. Army Research Office under Grant DAAG/29-81-G-0008.

0022-247X/87 \$3.00 Copyright © 1987 by Academic Press, Inc. All rights of reproduction in any form reserved. OSCILLATION CRITERIA

In what follows we restrict our discussion to nontrivial solutions of (1) which are indefinitely continuable to the right. A solution x(t) of (1) is said to be oscillatory if it has arbitrarily large zeros, and nonoscillatory if it is eventually of constant sign. Equation (1) is said to be oscillatory if every solution of (1) is oscillatory.

The proof of our main result, Theorem 1, is based on the proof of Theorem 1 in [1].

THEOREM 1. Assume that

(i) $q, g_i \in C[t_0, +\infty), i = 1, 2, ..., m, f \in C(\mathbb{R}^{m+1}), \text{ and } y_i f(y_1, ..., y_{m+1}) > 0$ when $y_i \neq 0$ has the same sign for i = 1, 2, ..., m+1;

(ii) there exists a continuously differentiable function $\sigma \in C[t_0, +\infty)$ such that $0 < \sigma(t) \leq g_i(t), 1 \geq \dot{\sigma}(t) > 0$ for $t \geq T$ and $\sigma(t) \to \infty$ as $t \to \infty$;

(iii) there exists a positive number c > 0 such that for every increasing function |y(t)|

$$\liminf_{|y|\to\infty}\left|\frac{f(y_1,\dots,y_{m+1})}{y}\right| \ge c > 0,$$

where $|y_i| \ge |y|$, i = 1, 2, ..., m + 1;

(iv) $q(t) \ge 0$ and q(t) is not eventually identically equal to zero on any subinterval (t_1, ∞) ;

(v) there exists a positive continuously differentiable function $\rho(t)$ on $[t_0, +\infty)$ such that

$$\lim_{t \to \infty} \frac{1}{t^{m-1}} \int_{t_0}^t \frac{(t-s)^{m-3} (\dot{\rho}(s)(t-s) - (m-1) \, \rho(s))^2}{\dot{\sigma}(s) \, \sigma^{n-2}(s) \, \rho(s)} \, ds < \infty$$
(3)

$$\lim_{t \to \infty} \frac{1}{t^{m-1}} \int_{t_0}^t (t-s)^{m-1} \rho(s) \, q(s) \, ds = +\infty, \tag{4}$$

where m > 2 is some integer number. Then every solution of (2a) oscillates.

Proof. Let x(t) be a nonoscillatory solution of (2a). Assume that x(t) > 0 for $t \ge t_0$ and choose a $t_1 \ge t_0$ so that $g_i(t) \ge t_0$ for $t \ge t_1$, i = 1, 2, ..., m. By Lemma 1 of [1], there exists a $t_2 \ge t_1$ such that $x^{(n-1)}(t) > 0$ and $\dot{x}(t) > 0$ for $t \ge t_2$. Choose a $t_3 \ge t_2$ so that $\sigma(t) \ge 2t_2$ for $t > t_3$. We apply Lemma 2 of [1] for $u = \dot{x}$, $\lambda = \frac{1}{2}$ and conclude that there exist $M_1 > 0$ and $t_4 \ge t_3$ such that

$$\dot{x}[\frac{1}{2}\sigma(t)] \ge M_1 \sigma^{n-2}(t) \ x^{(n-1)}[\sigma(t)] \ge M_1 \sigma^{n-2}(t) \ x^{(n-1)}(t), \qquad t \ge t_4.$$

Let $w(t) = x^{(n-1)}(t)/x[\frac{1}{2}\sigma(t)]$. Thus w(t) satisfies

$$\dot{w}(t) = -q(t) \frac{f(x(t), x(g_1(t)), ..., x(g_m(t)))}{x[\frac{1}{2}\sigma(t)]} - \frac{1}{2} \dot{\sigma}(t) w(t) \frac{\dot{x}(\frac{1}{2}\sigma(t))}{x(\frac{1}{2}\sigma(t))}.$$

Since $\dot{x}(t) > 0$ for $t \ge t_4$, $\lim_{t \to \infty} x(t)$ exists either as a finite or an infinite limit.

If $\lim_{t \to \infty} x(t) = b$ is finite, then

$$\lim_{t \to \infty} \frac{f(x(t), x(g_1(t)), \dots, x(g_m(t)))}{x(\frac{1}{2}\sigma(t))} = \frac{f(b, b, \dots, b)}{b} > 0$$

If $\lim_{t \to \infty} x(t) = +\infty$, then

$$\frac{f(x(t), x(g_1(t)), \dots, x(g_m(t)))}{x(\frac{1}{2}\sigma(t))} \ge \frac{c}{2} > 0$$

for sufficiently large t. On the other hand,

$$\frac{1}{2}\dot{\sigma}(t) w(t) \frac{\dot{x}(\frac{1}{2}\sigma(t))}{x(\frac{1}{2}\sigma(t))} \ge \frac{1}{2}\dot{\sigma}(t) w(t) \left(M_1 \sigma^{n-2}(t) \frac{x^{(n-1)}(t)}{x(\frac{1}{2}\sigma(t))}\right)$$
$$= \frac{M_1}{2} \dot{\sigma}(t) \sigma^{n-2}(t) w^2(t).$$

So, we have

$$\dot{w}(t) \leq -\frac{c_0}{2} q(t) - \frac{M_1}{2} \dot{\sigma}(t) \sigma^{n-2}(t) w^2(t),$$

where $c_0 = \min(c, f(b, ..., b)/b)$.

Therefore,

$$\frac{c_0}{2}q(t)\,\rho(t) \leq -\rho(t)\,\dot{w}(t) - \frac{M_1}{2}\,\dot{\sigma}(t)\,\sigma^{n-2}(t)\,\rho(t)\,w^2(t), \qquad t \geq t_4.$$

Or

$$\frac{c_0}{2} \int_{t_4}^{t} (t-s)^{m-1} \rho(s) q(s) ds$$

$$\leqslant -\int_{t_4}^{t} (t-s)^{m-1} \rho(s) \dot{w}(s) ds$$

$$-\frac{M_1}{2} \int_{t_4}^{t} (t-s)^{m-1} \dot{\sigma}(s) \sigma^{n-2}(s) \rho(s) w^2(s) ds$$

$$= (t - t_{4})^{m-1} \rho(t_{4}) w(t_{4})$$

$$+ \int_{t_{4}}^{t} (t - s)^{m-2} w(s)(\dot{\rho}(s)(t - s) - (m - 1) \rho(s)) ds$$

$$- \frac{M_{1}}{2} \int_{t_{4}}^{t} (t - s)^{m-1} \dot{\sigma}(s) \sigma^{n-2}(s) \rho(s) w^{2}(s) ds$$

$$= (t - t_{4})^{m-1} \rho(t_{4}) w(t_{4})$$

$$- \int_{t_{4}}^{t} \left(\frac{\sqrt{M_{1}}}{2} (t - s)^{(m-1)/2} \sqrt{\dot{\sigma}(s) \sigma^{n-2}(s) \rho(s) w(s)} \right)$$

$$- \frac{1}{2} \frac{\sqrt{2}}{M_{1}} \frac{(t - s)^{(m-3)/2}}{\sqrt{\dot{\sigma}(s) \sigma^{n-2}(s) \rho(s)}} (\dot{\rho}(s)(t - s) - (m - 1) \rho(s)) \right)^{2} ds$$

$$+ \frac{1}{2M_{1}} \int_{t_{4}}^{t} \frac{(t - s)^{m-3}}{\dot{\sigma}(s) \sigma^{n-2}(s) \rho(s)} (\dot{\rho}(s)(t - s) - (m - 1) \rho(s))^{2} ds$$

$$\leq (t - t_{4})^{m-1} \rho(t_{4}) w(t_{4})$$

$$+ \frac{1}{2M_{1}} \int_{t_{4}}^{t} \frac{(t - s)^{m-3}}{\dot{\sigma}(s) \sigma^{n-2}(s) \rho(s)} (\dot{\rho}(s)(t - s) - (m - 1) \rho(s))^{2} ds.$$

But, for every $t \ge t_4$,

$$\int_{t_0}^{t} (t-s)^{m-1} \rho(s) q(s) \, ds - \int_{t_4}^{t} (t-s)^{m-1} \rho(s) q(s) \, ds$$
$$= \int_{t_0}^{t_4} (t-s)^{m-1} \rho(s) q(s) \, ds \leq (t-t_0)^{m-1} \int_0^{t_4} \rho(s) q(s) \, ds$$

so

$$\frac{c_0}{2t^{m-1}} \int_{t_0}^t (t-s)^{m-1} \rho(s) q(s) ds$$

$$\leq \frac{c_0}{2} \left(1 - \frac{t_0}{t}\right)^{m-1} \int_{t_0}^{t_4} \rho(s) q(s) ds + \left(1 - \frac{t_4}{t}\right)^{m-1} \rho(t_4) w(t_4)$$

$$+ \frac{1}{2M_1 t^{m-1}} \int_{t_0}^t \frac{(t-s)^{m-3} (\dot{\rho}(s)(t-s) - (m-1) \rho(s))^2}{\dot{\sigma}(s) \sigma^{n-2}(s) \rho(s)} ds$$

for all $t \ge t_4$. This gives

409/127/1-10

$$\lim_{t \to \infty} \frac{c_0}{2t^{m-1}} \int_{t_0}^t (t-s)^{m-1} \rho(s) q(s) ds$$

$$\leq \rho(t_4) w(t_4) + \frac{c_0}{2} \int_{t_0}^{t_4} \rho(s) q(s) ds$$

$$+ \lim_{t \to \infty} \frac{1}{2M_1 t^{m-1}} \int_{t_0}^t \frac{(t-s)^{m-3} (\dot{\rho}(s)(t-s) - (m-1) \rho(s))^2}{\dot{\sigma}(s) \sigma^{n-2}(s) \rho(s)} ds, \quad (5)$$

which contradicts condition (4).

A similar proof holds if x(t) < 0, for $t \ge t_0$.

COROLLARY 1. Under the conditions of Theorem 1 and the assumptions that $1 \ge \dot{\sigma}(t) \ge k > 0$ and that there exists an $\alpha \in [0, n-1)$ such that

$$\lim_{t \to \infty} \frac{1}{t^{m-1}} \int_{t_0}^t (t-s)^{m-1} s^{\alpha} q(s) \, ds = \infty, \tag{6}$$

every solution of (2a) oscillates.

Proof. We choose $\rho(s) = s^{\alpha}$. By direct computations one can show that for $\alpha \in [0, n-1)$, $\rho(t)$ satisfies condition (3). By application of Theorem 1 we obtain the conclusion of Corollary 1.

Remark 1. Let $\rho(t) \equiv 1$, $1 \ge \dot{\sigma}(t) \ge k > 0$. Then Corollary 1 leads to Grace and Lalli's Theorem 1 in [1]. This shows that conditions (3) and (4) are more widely applicable than the existing ones.

EXAMPLE 1. Consider the equation

$$x^{(n)}(t) + f(x(\ln t)) = 0, \qquad n \text{ even}; \quad t > 1, \tag{7}$$

where

$$f(x) = \begin{cases} x \exp[(x(1+\sin x)], & \text{for } x \ge 0\\ x, & \text{for } x \le 0 \end{cases}$$

$$q(t) = 1, \quad \sigma(t) = \ln t, \quad q(t) = 1/t.$$
(8)

The theorem of Grace and Lalli is not valid for Eq. (7). But Theorem 1 is valid for (7). In fact, $\rho(t) = t^{-\alpha}$, $0 < \alpha < 1$, satisfies conditions (3) and (4), so all solutions of (7) are oscillatory according to Theorem 1.

EXAMPLE 2. Consider the equation

$$x^{(n)}(t) + t^{-\alpha} f\left(x\left[\frac{t}{2}\right]\right) = 0, \qquad n \text{ even, } t > 0, \ 1 < \alpha < n - 1.$$
(9)

f(x) is defined in (8).

It is easy to see that the oscillation theorem of paper [1] cannot be applied to Eq. (9), but if we take $\rho(t) = t^{\alpha}$, (9) satisfies the condition of Corollary 1. Therefore, all solutions of (9) are oscillatory.

Under the modification of the hypotheses of Theorem 1, we can obtain the following result:

THEOREM 2. In Theorem 1, condition (v) is replaced by the following condition:

(v)' There exists a positive continuously differentiable function $\rho(t)$ on $[t_0, +\infty)$ such that

$$\int_{0}^{\infty} \rho(t) q(t) dt = \infty$$
 (10)

and

$$\int^{\infty} \frac{\dot{\rho}^2(s)}{\rho(s)\,\dot{\sigma}(s)\,\sigma^{n-2}(s)}\,ds < \infty. \tag{11}$$

Then the conclusion of Theorem 1 is true.

COROLLARY 2. Under the conditions of Theorem 1 and the assumption that $1 \ge \dot{\sigma}(t) \ge k > 0$, if

$$\int_{0}^{\infty} t^{\alpha} q(t) dt = \infty, \qquad \alpha \in [0, n-1),$$
(12)

then every solution of (1) oscillates.

Remark 2. Theorem 2 includes some results of paper [5].

EXAMPLE 3. We consider

$$y^{(4)}(t) + t^{-4} \ln t y^{1/3}\left(\frac{t}{2}\right) y^{2/3}\left(\frac{t}{3}\right) = 0.$$
(13)

It does not satisfy condition (12), but we can choose $\rho(t) = t^3/(\ln t)^2$, which satisfies conditions (10) and (11). Therefore all solutions of (13) oscillate.

The results of paper [5] are not applicable for (13).

Remark 3. Let n = 2, f(x, y) = F(x), xF(x) > 0, $F'(x) \ge k > 0$. Then q(t) need not be a positive function to ensure the oscillation of (2). In that case Theorem 1 includes Philos' theorem [2] as a special case. Theorem 1 also includes Theorem 1 in [3] as a particular case.

Now we apply the above method to a more general equation,

$$x^{(n)}(t) + p(t) x^{(n-1)}(t) + q(t) f(x(g_1(t)), ..., x(g_m(t))) = 0,$$
(14)

where n is even, $f \in C(\mathbb{R}^m)$, g_i , $p, q \in C(\mathbb{R}_+, \mathbb{R})$, and i = 1, 2, ..., m and such that

(i)
$$p(t) \ge 0$$
, $q(t) \ge 0$ on R_+ and $q(t) \ne 0$ on any ray $[T, \infty)$;

(ii) if
$$y_i \leq z_i$$
, $i = 1, 2, ..., m$, then $f(y_1, y_2, ..., y_m) \leq f(z_1, z_2, ..., z_m)$ and

$$f(y_1, y_2, ..., y_m) > 0 if y_i > 0 for all i,$$

$$f(y_1, y_2, ..., y_m) < 0 if y_i < 0 for all i;$$

(iii) $g_i(t) \rightarrow \infty$, i = 1, 2, ..., m, and there exists $\sigma_i \in C^1[R_+, R_+]$, i = 1, 2, ..., m, such that

$$0 < \sigma_i(t) = \inf_{s \ge t} \min\{s, g_i(s)\},$$

$$\dot{\sigma}_i(t) > 0, \qquad \sigma_i(t) \to \infty \qquad \text{as} \quad t \to \infty;$$

(iv) $\partial f/\partial y_i$ exist and $\partial f/\partial y_i \ge \alpha_i > 0$ for $y_i \ne 0$, i = 1, 2, ..., m;

(v)
$$\lim_{t\to\infty} \int_a^t \exp(-\int_a^s p(\tau) d\tau) ds = \infty$$
 for any $a \ge t_0$;

(vi) there exists a positive continuously differentiable function $\rho(t)$ on R_+ such that

$$\lim_{t \to \infty} \frac{1}{t^{m-1}} \int_{t_0}^t (t-s)^{m-1} \rho(s) \, q(s) \, ds = \infty$$

and

$$\lim_{t \to \infty} \frac{1}{t^{m-1}} \int_{t_0}^t (t-s)^{m-3} \rho(s)^{-1} \left(\sum_{i=1}^m \alpha_i \sigma_i^{n-2}(s) \dot{\sigma}_i(s) \right)^{-1} \\ \times \{ (\dot{\rho}(s) - \rho(s) p(s))(t-s) - (m-1) \rho(s) \}^2 \, ds < \infty \}$$

for some integer $m \ge 3$.

THEOREM 3. Under conditions (i)-(vi) every solution of (14) oscillates.

Proof. Let x(t) be a nonoscillatory solution of (14), and without loss of generality, assume that x(t) > 0 for $t \ge t_0$. Then $t_1 \ge t_0$ exists so that $x[\sigma_i(t)] > 0$ for $t \ge t_i$, i = 1, 2, ..., m.

Define

$$w(t) = \frac{x^{(n-1)}(t)}{f(x(\frac{1}{2}\sigma_i(t)), \dots, x(\frac{1}{2}\sigma_m(t)))}$$

according to the procedure of paper [6]; we have

$$\dot{w}(t) \leq -q(t) - p(t) w(t) - \frac{2^{1-2n}}{(n-1)!} w^2(t) \sum_{i=1}^m \alpha_i \sigma_i^{n-2}(t) \dot{\sigma}_i(t)$$

so

$$\rho(t) q(t) \leq -\rho(t) \dot{w}(t) - \rho(t) \rho(t) w(t) - \frac{2^{1-2n}}{(n-1)!} \rho(t) w^{2}(t) \sum_{i=1}^{m} \alpha_{i} \sigma_{i}^{n-2}(t) \dot{\sigma}_{i}(t).$$
(15)

Integrating (15), we get

$$\begin{split} \int_{t_5}^{t} (t-s)^{m-1} \rho(s) q(s) \, ds \\ &\leqslant -\int_{t_5}^{t} (t-s)^{m-1} \rho(s) \, \dot{w}(s) \, ds - \int_{t_5}^{t} (t-s)^{m-1} \rho(s) \, p(s) \, w(s) \, ds \\ &- \frac{2^{1-2n}}{(n-1)!} \int_{t_5}^{t} (t-s)^{m-1} \rho(s) \, w^2(s) \left(\sum_{i=1}^{m} \alpha_i \sigma_i^{n-2}(s) \, \dot{\sigma}_i(s)\right) \, ds \\ &= (t-t_5)^{m-1} \rho(t_5) \, w(t_5) \\ &+ \int_{t_5}^{t} (t-s)^{m-2} w(s) (\dot{\rho}(s)(t-s) - (m-1) \, \rho(s)) \, ds \\ &- \int_{t_5}^{t} (t-s)^{m-1} \, \rho(s) \, p(s) \, w(s) \, ds - \frac{2^{1-2n}}{(n-1)!} \int_{t_5}^{t} (t-s)^{m-1} \, \rho(s) \, w^2(s) \\ &\times \left(\sum_{i=1}^{m} \alpha_i \sigma_i^{n-2}(s) \, \dot{\sigma}_i(s)\right) \, ds = (t-t_5)^{m-1} \rho(t_5) \, w(t_5) \\ &- \int_{t_5}^{t} \left\{w(s) \, \sqrt{\frac{2^{1-2n}}{(n-1)!}} \, (t-s)^{(m-1)/2} \rho(s)^{1/2} \left(\sum_{i=1}^{m} \alpha_i \sigma_i^{n-2}(s) \, \dot{\sigma}_i(s)\right)^{1/2} \\ &- \sqrt{\frac{(n-1)!}{2^{3-2n}}} \, (t-s)^{m-s/2} \rho(s)^{-1/2} \left(\sum_{i=1}^{m} \alpha_i \sigma_i^{n-2}(s) \, \dot{\sigma}_i(s)\right)^{-1/2} \end{split}$$

$$\times \left(\left(\dot{\rho}(s) - p(s) \,\rho(s) \right)(t-s) - (m-1) \,\rho(s) \right) \right\}^{2} ds$$

$$+ \frac{(n-1)!}{2^{3-2n}} \int_{t_{5}}^{t} (t-s)^{m-3} \rho(s)^{-1}$$

$$\times \left(\sum_{i=1}^{m} \alpha_{i} \sigma_{i}^{n-2}(s) \,\dot{\sigma}_{i}(s) \right)^{-1} \left(\left(\dot{\rho}(s) - \rho(s) \,p(s) \right)(t-s) - (m-1) \,\rho(s) \right)^{2} ds$$

$$\le (t-t_{5})^{m-1} \rho(t_{5}) \,w(t_{5}) + \frac{(n-1)!}{2^{3-2n}} \int_{t_{5}}^{t} (t-s)^{m-3} \rho(s)^{-1}$$

$$\times \left(\sum_{i=1}^{m} \alpha_{i} \sigma_{i}^{n-2}(s) \,\dot{\sigma}_{i}(s) \right)^{-1} \left(\left(\dot{\rho}(s) - \rho(s) \,p(s) \right)(t-s) - (m-1) \,\rho(s) \right)^{2} ds$$

where $t_5 \ge t_0$ is some constant. We have

$$\int_{t_0}^t (t-s)^{m-1} \rho(s) q(s) \, ds - \int_{t_5}^t (t-s)^{m-1} \rho(s) q(s) \, ds$$
$$= \int_{t_0}^{t_5} (t-s)^{m-1} \rho(s) q(s) \, ds \leq (t-t_0)^{m-1} \int_{t_0}^{t_5} \rho(s) q(s) \, ds$$

so

$$\begin{aligned} \frac{1}{t^{m-1}} \int_{t_0}^t (t-s)^{m-1} \rho(s) q(s) \, ds \\ &\leqslant \left(1 - \frac{t_0}{t}\right)^{m-1} \int_{t_0}^{t_5} \rho(s) q(s) \, ds + \left(1 - \frac{t_5}{t}\right)^{m-1} \rho(t_5) \, w(t_5) \\ &+ \frac{(n-1)!}{2^{3-2n}} \frac{1}{t^{m-1}} \int_{t_0}^t (t-s)^{m-1} \rho(s)^{-1} \times \left(\sum_{i=1}^m \alpha_i \sigma_i^{n-2}(s) \, \dot{\sigma}_i(s)\right)^{-1} \\ &\times \{(\dot{\rho}(s) - \rho(s) \, \rho(s))(t-s) - (m-1) \, \rho(s)\}^2 \, ds. \end{aligned}$$

Therefore

$$\lim_{t \to \infty} \frac{1}{t^{m-1}} \int_{t_0}^t (t-s)^{m-1} \rho(s) q(s) ds$$

$$\leq C + \lim_{t \to \infty} \frac{(n-1)!}{2^{3-2n}} \frac{1}{t^{m-1}} \int_{t_0}^t (t-s)^{m-1} \rho(s)^{-1}$$

$$\times \left(\sum_{i=1}^m \alpha_i \sigma_i^{n-2}(s) \dot{\sigma}_i(s) \right)^{-1}$$

$$\times \left\{ (\dot{\rho}(s) - \rho(s) p(s))(t-s) - (m-1) \rho(s) \right\}^2 ds.$$

This is a contradiction. The proof is complete.

If we integrate (15) directly, we have the following conclusion.

THEOREM 4. In Theorem 3 condition (vi) is replaced by conditions

$$\int_{-\infty}^{\infty} \rho(s) q(s) \, ds = \infty \tag{16}$$

$$\int^{\infty} \frac{(\dot{\rho}(s) - \rho(s) p(s))^2}{\rho(s)(\sum_{i=1}^{m} \alpha_i \sigma_i^{n-2}(s) \dot{\sigma}_i(s))} \, ds < \infty.$$
(17)

Then every solution of (14) oscillates.

Remark 4. If $\rho(t) \equiv t$, then Theorem 3 becomes Theorem 1 of paper [6]. The other results of paper [6] can be improved with the above method also.

The following example shows that Theorem 3 is an improvement of Theorem 1 in [6].

EXAMPLE 4. We consider

$$y^{(4)}(t) + t^{-1}y^{(3)}(t) + t^{-4}\ln t \left(\sinh y\left(\frac{t}{3}\right) + y\left(\frac{t}{2}\right)\exp\left(y^{2}\left(\frac{t}{2}\right)\right)\right) = 0,$$

$$t > 1, \quad (18)$$

where $p(t) = t^{-1}$, $q(t) = t^{-4} \ln t$.

It is easy to see that (18) does not satisfy condition (8) of Theorem 1 in [6]. We choose $\rho(t) = t^3/(\ln t)^2$; then

$$\int_{t_0}^t \rho(s) q(s) ds = \int_{t_0}^t \frac{1}{s(\ln s)} ds \to \infty \qquad \text{as} \quad t \to \infty.$$

On the other hand,

$$\int_{t_0}^{t} \frac{(\dot{\rho}(s) - \rho(s) \ p(s))^2}{\rho(s)(\sum_{i=1}^{2} \alpha_i \sigma_i^{n-2}(s) \ \dot{\sigma}_i(s))} \ ds \leq C_1 \int_{t_0}^{t} \frac{d(\ln s)}{(\ln s)^2} < \infty,$$

where C_1 is some positive number. That is, (18) satisfies the conditions of Theorem 4. Therefore, every solution of (18) oscillates.

References

1. S. R. GRACE AND B. S. LALLI, An oscillation criterion for *n*th order non-linear differential equations with functional arguments, *Bull. Canad. Math.* 26, No. 1, (1983), 35–40.

ZHANG AND LADDE

- 2. CH. G. PHILOS, "Oscillation of second order linear ordinary differential equations in alternating coefficients, Bull. Austral. Math. Soc. 27, No. 2 (1983), 307-314.
- 3. C.-C. YEH, An oscillation criterion for second order nonlinear differential equations with functional arguments, J. Math. Anal. Appl. 76 (1980), 72-76.
- M. K. GRAMMATIKOPOULOS, Y. G. SFICAS, AND V. A. STAIKOS, Oscillatory properties of strongly superlinear differential equations with deviating arguments, J. Math. Anal. Appl. 67 (1979), 171-187.
- 5. S. R. GRACE AND B. S. LALLI, Oscillation theorems for *n*th-order delay differential equations, J. Math. Anal. Appl. 91 (1983), 352-366.
- 6. S. R. GRACE AND B. S. LALLI, Oscillation theorems for damped differential equations of even order with deviating arguments, SIAM Math. Anal. 2 (1984), 308-316.